
08-06-2025

Flip Non-Self Propel Push / Pull Wheel Lock 

If 12" Wheels are present, use kits for corresponding wheel size.
 

Item Number Part Number Description Quantity
1a, 2a, 3, 4b,
5-7, 15 502990 Wheel Lock Assembly, Std Push, Right, Flip 1

1b, 2a, 3, 4b,
5-7, 15 502991 Wheel Lock Assembly, Std Push, Left, Flip 1

1a, 1b, 2a, 3,
4b, 5-7, 15 502836 Wheel Lock Assembly, Std Push, PAIR, Flip 1

2a, 3, 4b, 5-7,
9a, 10, 12-14,
15

502992 Wheel Lock Assembly, Std Push w/ Extension,
Right, Flip 1

2a, 3, 4b, 5-7,
9b, 10, 12-14,
15

502993 Wheel Lock Assembly, Std Push w/ Extension,
Left, Flip 1

2a, 3, 4b, 5-7,
9a, 9b, 10, 12-
14, 15

502837 Wheel Lock Assembly, Std Push w/ Extension,
PAIR, Flip 1

1c, 2b, 3, 4b,
5-7, 15 502994 Wheel Lock Assembly, Std Pull, Right, Flip 1

1d, 2b, 3, 4b,
5-7, 15 502995 Wheel Lock Assembly, Std Pull, Left, Flip 1



08-06-2025

Item Number Part Number Description Quantity
1c, 1d, 2b, 3,
4b, 5-7, 15 502838 Wheel Lock Assembly, Std Pull, PAIR, Flip 1

2b, 3, 4b, 5-7,
9c, 10, 12-14,
15

502996 Wheel Lock Assembly, Std Pull w/ Extension,
Right, Flip 1

2b, 3, 4b, 5-7,
9d, 10, 12-14,
15

502997 Wheel Lock Assembly, Std Pull w/ Extension,
Left, Flip 1

2b, 3, 4b, 5-7,
9c, 9d, 10, 12-
14, 15

502839 Wheel Lock Assembly, Std Pull w/ Extension,
PAIR, Flip 1

1a, 2a, 3, 4a,
5-8, 11 503417 Wheel Lock Assembly, Std Push, Right, Flip, 12"

Wheels 1

1b, 2a, 3, 4a,
5-8, 11 503418 Wheel Lock Assembly, Std Push, Left, Flip, 12"

Wheels 1

1a, 1b, 2a, 3,
4a, 5-8, 11 503419 Wheel Lock Assembly, Std Push, PAIR, Flip, 12"

Wheels 1

2a, 3, 4a, 5-8,
9a, 10-14 503420 Wheel Lock Assembly, Std Push w/ Extension,

Right, Flip, 12" Wheels 1

2a, 3, 4a, 5-8,
9b, 10-14 503421 Wheel Lock Assembly, Std Push w/ Extension,

Left, Flip, 12" Wheels 1

2a, 3, 4a, 5-8,
9a, 9b, 10-14 503422 Wheel Lock Assembly, Std Push w/ Extension,

PAIR, Flip, 12" Wheels 1

1c, 2b, 3, 4a,
5-8, 11 503423 Wheel Lock Assembly, Std Pull, Right, Flip, 12"

Wheels 1

1d, 2b, 3, 4a,
5-8, 11 503424 Wheel Lock Assembly, Std Pull, Left, Flip, 12"

Wheels 1

1c, 1d, 2b, 3,
4a, 5-8, 11 503425 Wheel Lock Assembly, Std Pull, PAIR, Flip, 12"

Wheels 1

2b, 3, 4a, 5-8,
9c, 10-14 503426 Wheel Lock Assembly, Std Pull w/ Extension,

Right, Flip, 12" Wheels 1

2b, 3, 4a, 5-8,
9d, 10-14 503427 Wheel Lock Assembly, Std Pull w/ Extension,

Left, Flip, 12" Wheels 1

2b, 3, 4a, 5-8,
9c, 9d, 10-14 503428 Wheel Lock Assembly, Std Pull w/ Extension,

PAIR, Flip, 12" Wheels 1

3 001905 Nut, Slide, Flip 1

4a 102792 M6 x 25, HHCS, Blk Zn 2

Used only with 12" Wheels

4b 102794 M6 x 14, HHCS, Blk Zn 2

Used with All Wheels Except 12" Wheels

5 101835 M6 Lock Washer Blk Zn 2

6 100658 M6 Nylock Nut Blk Zn 2

7 100746 M6 Flat Washer Blk Zn 2

8 003156 Spacer .7"OD x .315"ID x .485" 2

Used only with 12" Wheels

10, 12-14 100854 Brake Extension Replacement 1



08-06-2025

Item Number Part Number Description Quantity

11 001019 Bearing Shaft Upper 2

Used only with 12" Wheels

12 101117 M5 x 22 BTN SHCS BLK ZC 1

13 101856 Flat Washer, M5, Blk Zn 1

14 100657 M5 Nylock Nut Blk Zn 1

15 002913 Wheel Lock Mount Spacer FLIP 1

Used with All Wheels Except 12" Wheels


